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1 Shari buys a box of 60 candles for £125.
She sells the candles for £2.25 each.

Calculate her percentage profit.

% [4]
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6  Peter makes a large amount of pink paint by mixing red and white paint in the ratio 2 : 3.

Red paint costs £80 per 10 ltres.
White paint costs £5 per 10 litres.

Peter sells his pink paint in 10-iire tins for £60 per tin.

Calculate how much profit he makes for each tin he sells.
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John i going to make chocolate squares to sell.

“There ae just thea ingrdients,chocclat, peanut butter and risped e, mxed i the ato
472 3 respectively.

(8) How much of each ingredient il b need o make 500g o mixture?

(@ chocolate g
cispedrice g
@

(B) Abr of chocolate weighs 200g and costs £2.50.
Ajarofpeanut butter contains 250g and costs £1.70.
‘Apacket of risped ice contains 300g and costs £200.

John makes 4 5k of mixture, rom which ho can cut 100 chocclats squares.
He charges 60p for sach square and sefs all 100 squares.

How much profit does he make?
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Rana sells 192 cakes inthe ratio ~ small : medium : large = 7:6:11
“The profit for one medium cake s twice the proft for one small cake.
“The profit for one large cake is three times the profit for one small cake.

Hertotal profit is £532.48

Work out the profit for one small cake.

15 marks]
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10 Robert makes 50 ltres of green paint by mixing lires of yellow paint and litres of
blue paint in the ratio 2:3

Vellow paint s soldin 5 e tins.
Each tin of yellow paint costs £26

Blue paint is sold in 10 fte tins.
Each tin of blue paint costs £45.

Robertsels all the green paint he makes in 10 litr tns.
He sell each tn of green paint for £66.96

‘Work out Robert's percentage profit n each tin of green paint he sels.

—%

(Total for Question 10 is 5 marks)
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3 Rence buys Skg of sweets to sell.
She pays £10 or the sweets.

Rence puts ll the sweets nto bags.
She puts 2505 of swests ino cach bag.
‘She sels cach bag of sweets for 65

Rence sellsallthe bags of swsts.
Work aut her percentage profit

(Tota for Question 3is 4 marks)
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1 1n.2003, Jery bought a house.

10 2007, Jerry sod the house to Mia.
He made a profitof 20%

10 2012, Mia sold the house for £162000
She made  loss of 10%

Work out hows smch Jerry paid fo the house i 2003

(Total for Question
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2 Emily buys a pack of 12 bottles of water.
The pack costs £5.64

Emily sells all 12 bottles for 50p each.

‘Work out Emily’s percentage profit.
Give your answer correct to 1 decimal place.

(Total for Question 2 is 3 marks)

%
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3 David has designed a game.
o e S -sded dcs nd s i S-sidd spmner
The ice s mumbered 1 196
The spinner s mmbered 1 105

‘Esch playe ols e ice e sad piss the spismer e,
Aplayercan win £5 or i £2

David expects 0 peapl il play s game.
Esch person il pay David 1 t play e game.

(9 Work out o much proft Darid ca expect o mke.

e—

(®) Gire a reason why Davids actual profit may be diffrent t e profithe expects 1
.

)

(Total for Question 3is § marks)
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Lily buys and sells microwaves.

‘She buys each one for £32 and sels it for £60.

‘She also pays £7 for the delivery of each microwave she sells.

If she sells a microwave that is faulty then Lily must pay for its repair and redelivery.

“This costs her another £25 for each faulty microwave.

Last month, 6 out of the 80 microwaves Lily sold wer faulty.

‘This month she has orders for 133 microwaves.

Calculate her expected percentage profit on this month's order.
‘Showing your working in the boxes below may help you present your work.

Expected number of faulty microwaves:

Expected costs:

Income from sales:

Expected percentage profit

% 6]




